Quantitation Report (QT Reviewed)

Data Path : Z:\svoasrv\HPCHEM1\BNA_F\Data\BF@32321\
Data File : BF123417.D

Acqg On : 23 Mar 2021 22:34
Operator : JU/CG

Sample : M1740-03

Misc :

ALS Vvial : 21  Sample Multiplier: 1

Quant Time: Mar 24 00:27:51 2021

Quant Method : Z:\SVOASRV\HPCHEM1\BNA_F\METHODS\8270-BF032321.M
Quant Title : ASP BNA STANDARDS FOR 5 POINT CALIBRATION

QLast Update : Tue Mar 23 15:58:35 2021

Response via : Initial Calibration

Compound R.T. QIon Response Conc Units Dev(Min)

Internal Standards

1) 1,4-Dichlorobenzene-d4 6.916 152 275189 20.00 ng 0.00
21) Naphthalene-d8 8.198 136 988832 20.00 ng # 0.00
39) Acenaphthene-di10 9.963 164 512362 20.00 ng 0.00
64) Phenanthrene-d10 11.451 188 771978 20.00 ng 0.00
76) Chrysene-di12 14.098 240 404985 20.00 ng 0.00
86) Perylene-di12 15.609 264 455663 20.00 ng 0.00

System Monitoring Compounds

5) 2-Fluorophenol .528 112 627599 37.31 ng
7) Phenol-dé6 .528 99 488962 21.84 ng
23) Nitrobenzene-d5 .480 82 1607459 87.74 ng

5 0

6 0

7 0
42) 2,4,6-Tribromophenol 10.751 330 469186 81.91 ng 0.00

9 0

3 0

45) 2-Fluorobiphenyl .280 172 2766001 77.12 ng .00
79) Terphenyl-di4 13.051 244 2497205 104.50 ng .00
Target Compounds Qvalue
6) Aniline 6.569 93 61954 2.26 ng 94
10) Phenol 6.539 94 56335 2.45 ng 95
74) Di-n-butylphthalate 12.015 149 107634 2.33 ng 98

(#) = qualifier out of range (m) = manual integration (+) = signals summed
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Abundance TIC: BF123417.D\data.ms
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